
Oefenopgaven  Module 2: Process 
 
Antwoorden 
 

Opgave 2.1 
a) G:  B C D 

S:  A of E 
D: E of A 
 

b) Doorsnede a-a’:  
 
 

 
 
Doorsnede b-b’: 

 
 
 
 
 

Opgave 2.2 
a) Doorsnede a-a’:  

 
 
 
 
 
 
 
Doorsnede b-b’:  
 
 
 
 
 
Doorsnede c-c’:  
 
 
 
 

 
b) W = 10λ, L = 2λ 
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Opgave 2.3 
a) Doorsnede A-A’: 

 
 
 
 
 
 
Doorsnede B-B’: 
 
 
 
 
Doorsnede C-C’: 
 
 
 
 
 
Doorsnede D-D’:     

 
 
 
 
 
b) De bovenste heeft de grootste breedte. 
 
  
c)  
d)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A

Contact

Metaal 1

 Actief

Poly Si

A'

B'B

C'

CD

D'

N-well (vraag c)

VSS (vraag d)

VDD (vraag d)



e)  
 
 
 
 
 
 
 
 
 

Opgave 2.4 
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